29D

QUESTION BOOKLET

Q.B. Number:

29

YHS UHAT3ST

Post: Sr. Lab Attendant, Lab Attendant, Library Restorer,

Forest Guard, Assistant Treasurer

29H< arg3, mifHrde 2adg

INSTRUCTIONS (faefesT)

Q.B. Series: D

Roll Number:

3% 399 ;

Please read the following instructions carefully

1) Mark carefully your Roll Number and series of the paper
on the OMR Answer Sheet and sign at the appropriate
place. Write your Roll number on the question booklet. /
fimrsyges ©mmma 839 Hie 3 MU 3% 589 M3 UUg € B3 5.
3 fors B8 M3 At AqT 3 IHI™HT FS| YHS YA 3 My
CLEGECRISEL

2) Strictly follow the instructions given by the Centre
Supervisor / Room invigilator and those given on the

Question Booklet. / dgg T fadhya/ aHd @ fadhua @vmar W3
YRS YAr3ar 3 fedht ardht faerfest e ydt 397 use 93

3) Please mark the right responses ONLY with Blue/Black
ball point pen. / fsaur gaa Adt €739 3 A= JS/AS TS 3%
forTs Barg|

4) Candidates are not allowed to carry any papers, notes,
books, calculators, cellular phones, scanning devices,
pagers, blue-tooth devices, I-pads and any other electronic
devices to the Examination Hall. Any candidate found
using, or in possession of such unauthorized material,
indulging in copying or impersonation or adopting unfair
means, is liable to be summarily disqualified and may be
subjected to penal action./ §Hte=al g it g &g It
I, &SH, YA, d8I8cd, HB®I 86, Hdfsd Sudds, Und,
98¢8 Guads, Met U3 »i3 Jet 39 fedaciod Buads femrGe
feaaz &t A1 fom <t Gvfieeg ©vaT sa® 9ds A 97 TelBE A
far magfes Idtar musBe wiagz mifadt wenmfafgz miardt <t
293 Ja U Ae At rifadhut St fhse 3 GHg 393 »ivdal Jag
fegr 77 Haer d w3 O & mar & fedt 7 AarEt 9

5) After finishing the examination, hand over the complete
question booklet and the OMR Answer Sheet. DO NOT
carry the question booklet or any part of it, outside the

examination room. Doing so, is a punishable offence. /
ity & mHuEt 3 wmre, ydt yras uRfsa w3 ©mmig 8739 Hie
251 Yus yrfsar At ferer o€t & fomm Yiftmr € a3 I a9 &7 &
G| M JI&T HATHAN MUTTd J

6) The test is of objective type. This Question Booklet
contains a total of 100 questions and the total time allotted
is 120 Minutes. / ftmm & Y39 safeasdt (vedtus gifen) Jl

fer yas yAf3ar fi€9 100 yrs AiHs g5 »3 98 AHt 120 fHe 31

7) Each objective question is followed by four responses.
Your task is to choose the correct response and mark your
response on the OMR Answer Sheet and NOT on the

Question Booklet. / 739 gdfeast (Hatus IUn) yris € 99
€39 Ta 373 aH At €39 €t I adsT W3 Eng Hie 3
wyE 739 3 forrs sarGeT J &7 g yrs ynAf3ar 31

8) Candidate is required to attempt all questions. All
qguestions carry 1 mark each. There will be NEGATIVE
MARKING. 0.25 marks will be deducted for each wrong

Answer. /| §Hfe=a B¢t A9 YHE JdaT Aadl JI 99 YHE 1 wid &7
I T TB3 §739 Tt 3difee Hafagar € 39 3 0.25 »ig Je AT=dll
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29D

Who is the President of NSWAI (National Solid
Waste Association of India) in the year 20137
A) Dr. Amiya Kumar Sahu

B) Dr. Amrita Sahu

C) Dr. Sarita Sahu

D) Dr. Lalit Sahu

What is the latitudinal extent of Punjab?
A) 73955' north to 76°50' north

B) 29°30' north to 32°32' north

C) 30°29' north to 30°30' north

D) 25030' north to 40°32' north

On which river has the Nagarjuna Sagar Dam
been constructed?

A) River Coyaba

B) River Krishna

C) River Godavari

D) River Tapti

Which of these accelerate growth in plant
stems?

A) Vitamin

B) Giberlin

C) Phytochrome

D) Auxin

What is the popular food of Punjabi's?

A) Dhokla

B) Sarson ka saag

C) Thepla

D) Idly

Punjabi language is derived from

A) Pishachi

B) Magdhi

C) Shourseni

D) Hindvi

—

"% 2013 fEg Mennsafslend (3nss Afss are
mHfERs mre foghr) & yurs de 37

A) 37, nfipott gAY

B) 3. nifizT Arg

C) 3. nfgzT Arg

D) 3. wfs3 Ag

UATg = wiaatHt fen39-u33 foar 37
A) 73055' §°33 3 76°50' €39

B) 29030' §39 3 32032' §39

C) 30029' €339 2 30030' 39

D) 25030' 6739 3 40°32' €39
BIMIds HAd €6 fagdt ot 3 gerfonT famr 37
A) e

B) famar =it

C) deredt ot

D) 3yt &<t

feast &9 faazr e @ 33 39 3+ o = gg9er 37

A) feerfis

B) frgggts

C) wfezgn

D) wiafis

UHTE T HHYT 378 ot 37
A) BIsT

B) woH € HAI

C) &uym

D) fes®t

Urrdt g fam 3 yuz &t ardt 97
A) furrt

B) Hardft

C) Honat

D) fde<h
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29D

10.

11.

12.

What type of organisms are Bacteria?

A) Acellular organisms

B) Prokaryotic Organisms

C) Monocellular Organisms

D) Eukaryotic Organisms

Which among the following is the most popular
dance of men of Punjab?

A) Bhangra

B) Garbha

C) Disco

D) Kathak

What was the period of Second World War?
A) 1939-1945

B) 1932-1940

C) 1935-1947

D) 1938-1948

For which of the following industry is
Bhadrawati, Karnataka famous?

A) Cotton Textile

B) Woolen textile

C) Silk Textile

D) Iron and Steel

A reaction in which, under equilibrium, both
reactants and products are present is called as
A) Exothermic

B) Endothermic

C) Reversible

D) Irreversible

Brass is :

A) An alloy

B) A radioactive element

C) A non-metal

D) A metalloid

10.

11.

12.

gadh fan yarg € e 95?
A) wiafeft e

B) Qafgfes e

C) feg dfiyeft =

D) wafsGfea Hie

I faftmit f&9 yrme € yant & /8 3 yfHu &9 fagsr
3?

A) =z

B) drgst

C) fomat

D) &

o fere 9o &t fimre ot Hi?
A) 1939-1945

B) 1932-1940

C) 1935-1947

D) 1938-1948

JI&Ted € geadredt foHafeys &g fagx Gedar st
yfHg 37

A) 7t duz

B) €=t duz

C) Fmf =

D) 3T m3 feruts

8a ySHfafon fam e, H3ss € »izgas, yItaaa »3
A) 3 feamt

B) 3y gt

C) yIteast

D) »ufgeassHls

figs fea.

A) g a3 g

B) Istoafe= 333

C) mu3J

D) a3 3
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13.

14.

15.

16.

17.

In which month Festival of Basant Panchami
celebrated?

A) Chetar

B) Magh

C) Phagun

D) Poh

Lohri is essentially a festival dedicated
A) To fire

B) To sall

C) To water

D) To moon

Which one of the following describes a system

of agriculture where a single crop is grown on a

large area?

A) Intensive Agriculture

B) Horticulture

C) Shifting Agriculture

D) Plantation Agriculture

Which Governor General annexed Punjab?
A) Harding

B) Dalhousie

C) Metcalf

D) Bentic

The cotton belt of Punjab is located in which
geographical region of Punjab?

A) Doaba

B) Majha

C) Malwa

D) Pothohar

13.

14.

15.

16.

17.

gH3 ot = 389 faaz vt fEa Harfonr ater 372

A) 939

B) v

C) eare

D) dg

&3t v 38979 Wy 39 3 fam o9 3 mHafuz 37
A) marg

B) g

C) u<tyd

D) e 3

forafeyz fed fan a3t Yoot fe ffq ft ens @3 83

feg Gardt et 97

A) Rt gt

B) grararat

C) marsisfas gt

D) du= &t

fag3 egad Aads 3 Ung €73 agqr o312
A) Tafsa

B) s®uGHt

C) freare

D) Sxfea

e € fao3 gaifea foera fidg Unme t des S@e
Afgz 3?7

A) v

B) wrst

C) H&er

D) UgJg
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18.

19.

20.

21.

22.

In which of the following area of Punjab the

largest number of steel rolling mills is located?

A) Ludhiana

B) Mandi Gobindgarh

C) Bathinda

D) Jalandhar

Italian Fascism gravitated to the right in which

period?

A) The early 1920s

B) The early 1910s

C) The early 1940s

D) The early 1900s

When was quit India movement started by

Indian National Congress?

A) 1942

B) 1945

C) 1937

D) 1935

Who was the Governor-General of India at the

start of Quit India Movement?

A) Lord Irwin

B) Lord Curzon

C) Lord Linlithgow

D) Lord Reading

Copper wires are used for electrical

connections. Why?

A) Because electrical resistivity for copper is
high

B) Because electrical conductivity is low

C) Because electrical conductivity is high

D) Because both electrical resistivity is high

and electrical conductivity is high

18.

19.

20.

21.

22.

g gt I fodht fagdnt giet fdg re 3 <0
faredt fieg vts Sfsar thsst mafus 98?

A) SBftmrer

B) W3t difdears

C) gfssT

D) #®ud

fon g fe9 ezt eHiere & sam H-nifuag €
famr?

A) 1920 €. T nids feg

B) 1910 . @ nidg fg

C) 1940 €. @ wdg fi&

D) 1900 €. @ nidg fg

3193t IHC! TGN EMTdT 9193 B3 MEBs 9€ Hg
3T famr Hi?

A) 1942

B) 1945

C) 1937

D) 1935

93 83 MEB6 Hd I & I'I3 € JILIEI-16IH JS
H?

A) 93 faafes

B) ®9J3 9396

C) ®J3 feafeadt

D) ®g3 difgar

38 Tt It €t 233 famet © Toams Bt St At
A fag?

A) fgfs 318 < famedt yHauas mita 3

B) fatfa fordt farsdt gazT we 3

C) Gty foreh famedt ez wifaa 3
D) faSfa fomeh fareet yItoussT w3 famsdt
THIIT &< It vifgq 95
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23.

24.

25.

26.

27.

28.

In which direction of India Punjab is located?
A) North South

B) North west

C) North East

D) South East

Where was first World War centered?

A) Europe

B) Asia

C) Africa

D) America

What are negatively charged particles called?
A) Electrons

B) Atomic nucleus

C) Protons

D) Neutrons

What is the Sl unit of magnetic field?

A) Tesla

B) Kelvin

C) mho

D) Siemen

Property of a coil by virtue of which it opposes
the change of current through it by inducing
emf in itself is called

A) Self-induction

B) Mutual induction

C) Admittance

D) Impedance

In which year Guru Granth Sahib was accorded
the status of Guru

A) 1664

B) 1704

C) 1699

D) 1708

23.

24.

25.

26.

27.

28.

g 3733 &t fan femr fieg Afgs J97
A) €33 Tue

B) €39 Uy

C) €33 yow

D) €4<ydy

Ufg® feme wu = ded fag Hi?

A) @au

B) exftur

C) nfedlar

D) wdtar

foe gran gt & ot fagr Ater 37

A) fe&ads

B) yHe d=d

C) i

D) fs€<s

godt 39 <t Sl fearet &t 9?7

A) 2rzr

B) a=fes

C)n

D) s

3% &t B fermsT & ot fagr AT J fame € 996 feg
e nfegd emf Ufg3 334 for e ads @& 9de §
gE5e 3 daeT J7

A) F-yge

B) ugnugd yde

C) ud<H

D) yJigar=e

fgg3 A &9 919 98 Arfgg & 9 <t ue<t g &t
AfoHat It #?

A) 1664

B) 1704

C) 1699

D) 1708
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29.

30.

31.

32.

33.

34.

Which of the following plant hormones causes
wilting in leaves?

A) Ethylene

B) Auxin

C) Gibberlin

D) Abscisic acid

Which of these four maharatnas markets steel
for the public sector plants?

A) SAIL

B) BHEL

C) ONGC

D) NTPC

Which type of rainfall is received by Punjab in
July - August?

A) Monsoon

B) Western disturbances

C) Local rainfall

D) All of these

Lime water is an aqueous solution of

A) Calcium carbonate

B) Calcium chloride

C) Calcium hydroxide

D) Calcium bicarbonate

What happens to resistance of a metal with
increase in temperature of the metal?

A) Increases

B) Decreases

C) Remains same

D) First decreases and then increases

In which year Punjab was annexed by British?
A) 1847

B) 1857

C) 1843

D) 1849

290.

30.

31.

32.

33.

34.

fors fiE5 Ue € faa3 Iois © 996 U3 aH+dg J AT
I&?

A) tHigts

B) wiafits

C) frgadts

D) wefiafes mivs

fegat 919 Hula3st fied faua™ Ardedfsd 839 €
FrauTtent st ferurs €t ydte-eduz ager 97
A) Fearenmeis

B) 3u/dhimthis

C) &

D) wadhfirt

HBE wam3 @ Hdts fee yarg g fam famy = i
Ter 3?

A) HGHG

B) UaHt suz

C) maraa Hig

D) f&g Arg

Han<! 7 fog T uret femer 7et us 3

A) ISHMWMH TIEde

B) d&Hhi I&aets

C) asHmH gretgnmanTets

D) d&HMH grfearadse

fan o3 € IunTs fe9 oo e &8 Br U3 € Y3y
'3 ot nfAg Yer J?

A) Tuwerd

B) we werd

C) 6ft afger 3

D) ufgst =g wier 3 w3 feg we Aer 3
wiaodt & fogaz A Uate €73 g7 99 f831?
A) 1847

B) 1857

C) 1843

D) 1849
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35.

36.

37.

38.

39.

40.

The north-south corridor joins which of the
following places of India?

A) Srinagar to Kanyakumari

B) Srinagar to Rameswaram

C) Shimla to Kochi

D) Dehradun to Kanyakumari

The reaction, Ho+Cl2»2HCl is:

A) An oxidation reaction

B) A reduction reaction

C) A combination reaction

D) An isomerisation reaction

The term “New systematics” was coined by
A) Aristotle

B) John Ray

C) Julian Huxley

D) Engler

Area of Punjab that is between rivers of Beas
and Satluj is called as

A) Majha

B) Malwa

C) Doaba

D) Giddha

Which ceremony is observed in the morning of
the wedding day?

A) Ghori

B) Ganna

C) Gharoli

D) Jaggo

The acid present in an ant’s sting is :

A) Acetic acid

B) Methanoic acid

C) Citric acid

D) Tartaric acid

35

36.

37.

38.

39.

40.

§3dt-2uet afemmd 3793 € It fefumtt fied faa3
HETST & 73€ I87

A) Hiearg 3 dfenmardt

B) stearg 3 gimean

C) fimr 3 <t

D) Sg9rgs 3 sfemmandt

yHfafenr, Ho+Clo2HC ;

A) &g nrartags ySfafent I

B) fea nieggs yIifafans J

C) fea Auws yIfafomt I

D) f&a muufarfafsa yIifafonr 9

Hae "<t Tgdftags-fefams" €t ¥x fogst & st

A) wagwg

B) 753

C) weinis TaHS

D) eadrsg

fo™ m3 H3BH Tt st fegag8 Urrg € 839 &
aff fagr wier I

A) HsT

B) H&er

C) enmer

D) farar

formg =8 fos &t AR & fagdt A3 it At 97

A) wFt

B) drer

C) wdst

D) =t

St € Sar fieg fog mivs Hae der d:
A) MrRfed MHS

B) HEaTed mHS

C) mfefed mH®

D) crgefad mHs
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29D

41.

42.

43.

44,

45.

46.

Guru Di Maseet at Gurdaspur is
A) A garden

B) A mosque

C) Atemple

D) A gurudwara

Which of the following crop is a Zaid crop?

A) Maize

B) Paddy

C) Wheat

D) Watermelon

Who was the founder of fascism in Italy?
A) Adolf Hitler

B) Emilio Gentile

C) Benito Mussolini

D) Stanley G. Payne

The device used for producing electric current
is called a

A) Voltmeter

B) Galvanometer

C) Ammeter

D) Generator

Teeyan festival is celebrated in which following
months?

A) Phagan

B) Cheter

C) Sawan

D) Bhadron

Where did Mahatma Gandhi start his first
Satyagraha movement in India?

A) Champaran

B) Orissa

C) Kheda

D) Calcutta

41.

42.

43.

44,

45.

46.

Jge™Ud fed ag & HHt3 ot 372

A) feq gmar

B) fea wnfae

C) foa g

D) f&& qrgeerar

forafeyz fed faodt ens o3t w3 At € wafims
i+ 7= Tt (arfee en®) eAS J7

A) Hdft

B) s&r

C) aea

D) sagw

ot feg etee #f efAee= € AFEUd de A8?
A) m3se faesa

B) efHfgt dedts

C) sfse Hrfeat

D) meaat . ufes

feredt € Jde §3Us 995 Bt <93 A€ Guade &
fogr 7T 9

A) Safles

B) dweaiea

C) mnftes

D) #a3eg

J?

A) g5

B) §39

C) w<s

D) s&d

HI3HT a1t & 3733 e nmueT ufgsT Afswmafd Mess
forg Hg o3 Hi?

A) duge

B) €t

C) ¥=r

v

D) a&d37
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29D

47.

48.

49.

50.

51.

What was the immediate cause for the first

world war?

A) Assassination of Archduke Franz Ferdinand
of Austria

B) Attack on Poland

C) War between France and Rome

D) War between England and Germany

When was Asiatic Cheetah declared as extinct

in India?

A) 1952

B) 1965

C) 1976

D) 1982

Where is Majha region?

A) Central Punjab

B) North East Punjab

C) South East Punjab

D) South Punjab

In which year India - Pakistan partition took

place?

A) 1954

B) 1947

C) 1956

D) 1949

In which of the following state Bokaro Steel

Plant is situated ?

A) Jharkhand

B) Bihar

C) Gujarat

D) West Bengal

47.

49.

ufo® fere WU o 339a®1s J1a6 of H?
A) MHESHT @ WigafS8e gdw gates €t Jfgnr

B) 83 3 avsT
C) g w3 9 fegarg Wy
D) fearéss w3 wanat fegaa Wy

. 3733 &9 efipet 3 & a< Uz ufFs i3t famr Hi?

A) 1952

B) 1965

C) 1976

D) 1982

HS &7 439 fag J?
A) dedt uag

B) €39 ygg vwd
C) dy< ygg Urg
D) <yt Uarg

. 9733 — ufarzs ot €3 fan irs It?

A) 1954
B) 1947
C) 1956
D) 1949

. 9973 At® usie fons fed fam yis fee Afez 37

A) sz
B) fyarg
C) grrar3
D) vet gars
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29D

52.

53.

54.

55.

56.

Which of the following are the Big Three in the

2nd World War?

A) Roosevelt, Churchill , Stalin

B) Churchill, Hitler, Stalin

C) Stalin, Hitler, Mussolini

D) Hitler, Mussolini, Roosevelt

India has one of the largest networks of which

of the following modes of transport?

A) Roadways

B) Railways

C) Waterways

D) Pipelines

What is the angle between the geographic

meridian and the magnetic meridian at a place

is called?

A) Magnetic Declination

B) Magnetic Inclination

C) Horizontal component of earth's magnetic
field

D) Magnetic dipole

Name the joint capital of Punjab and Haryana
A) Jaipur

B) Lucknow

C) Chandigarh

D) Amritsar

Where is the Gobindgarh Fort?
A) Amritsar

B) Chandigarh

C) Mansa

D) Bathinda

52.

53.

54.

55.

56.

faadt °7a?

A) A&, 9998, ATTSs

B) 93f9%, faesq, Aefss

C) mefes, faesy, wafgat

D) foesg, vifgat!, gnese

3733 feg wreet € fad3 Aus ¥ A8 3 957 7%
fefen Ifom 372

A) A= Hgar

B) Smvmaar

C) agHraar

D) urehumreftet

fon HaTs € gafsa Hitms w3 gadt Higws fegaas
de g ot fagr Ater 3?7

A) ggdt uzaHtssT

B) Fusft g
c) fyaet ¢ dudt 939 v fufst 7 Seet gmar

D) d&sft @-uge

Urarg w3 Ifgmrer & At gaurat @ sy R
A) g

B) ®usg

C) S5t

D) »ififzra

difdeds = faor fag 37

A) »iftZrg

B) ddforg

C) HaH

D) sfesT
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29D

57.

58.

59.

60.

61.

Rust is hydrated:

A) Aluminium oxide

B) Copper oxide

C) Iron oxide

D) Silica

Which of the following is a mismatch?
A) Root nodules - Legume

B) Exarch Xylem - Roots

C) Smut - Puccinia

D) Endarch xylem - Stem

Under Five Kingdom classification,
Chlamydomonas and Chlorella belong to which
of these kingdoms?

A) Animalia

B) Plantae

C) Protista

D) Fungi

What is the S. | unit of electric current?
A) Coulomb

B) Ampere

C) Ohm

D) Tesla

Which of these cannot be the product of three
consecutive integers?

A) 336

B) 232

C) 120

D) 1320

57.

58.

59.

60.

61.

Har Jeftges A Asuias:
A) mEHiEH Maaets 3
B) Iud M3 J

C) nifegs mranrels J

D) fegtar 3

fons f&d fagzr ais 32
A) drEaHT 73 - egterg Uer
B) #Wanad wifesH - 73t
C) dge™ - UfgHtar

D) wianad e - 3T
UH Yt 290fldas € MEATg, ISTHIHE™ M3 ISHIST
fom ymrdt & Hetaz 987

A) METHE T

B) usfet

C) Uferer

D) gge #f gt

famdgt € gde €t S. | fearet &t 97
A) g8

B) #nnfmig

C) Gon

D) om

foat f&d fagdt At 3 g ugs A<t &7 gres
g% &t I Aaet 37

A) 336

B) 232

C) 120

D) 1320
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62. A diver dives to a depth of 650ft into the sea 62. f¥q J3rdg mied €9 650 g <t arfaaret 3o gt
and ascends 405ft. What is his position? Barger I w3 405 g §ua miGer 31 Ont Afgdt Sft
J7?
A) 245ft below the sea level A) mHedt 35 3 245 g2 It
B) 1055ft below the sea level B) miedt 3% 3 1055 gc Jat
C) 145ft below the sea level C) miedt 3% 3 145 3¢ Jat
D) 245ft above the sea level D) mHedt 3% 3 245 e Gug
63. The average of 20 numbers is 23.25. The 63. 20 Fitmret =7 winz 23.25 J1 ufgast 9 Aitmret &
average of first 9 numbers is 21.34 and the A3 21.34 I »i3 fugdhnt 12 Airet 27 »ins 24.01
average of the last 12 numbers is 24.01. Find J1 9t Fitm uzT 93|
the 9th number?
A) 13.18 A) 13.18
B) 15.18 B) 15.18
C) 15.28 C) 15.28
D) 15.81 D) 15.81
64. Simplify:t/2 +2t2+t+5/6+1+t2/3="7 64. IS A2+ 22+t +5/6+1+1t2/3="7
A) t2/6 +1/12 + 11/6 A) t?/6 +t/12 + 11/6
B) 7t2/2 + 3t/3 + 11/6 B) 7t4/2 + 3t/3 + 11/6
C) 7t3/3 + 3t/2 + 11/6 C) 7t3/3 + 3t/2 + 11/6
D) 7t2/3 + 3t/2 + 1/6 D) 7t3/3 + 3t/2 + 1/6
65. 50ltrs solution contains milk and water in the 65. 50 fgeg W fe9 €u w3 Uet € »isut3 2:3 31 OR
ratio 2:3. How much water should be added to U 2 s uret 99 fugfen wrer grdfter 9 far Gaat
bring the ratio to 2:5? T HEUTS 2:5 I A7
A) 10ltrs A) 10 fee3
B) 5itrs B) 5 fses
C) 20ltrs C) 20 fees
D) 21ltrs D) 21 fges
66. Divide 102 into two parts such that one third 66. 102 3 € grar fe9 fom Y9 <3 fq ufg® g1 e f¥a
part of the first and the three-fifth part of the f3gret grar w3 T4 a1 € 35 g7 € AR AT &
second are in the ratio 4:3. Find the two WMEUTS 4:3 J=)| &< A=t U3T 937?
numbers? A) 52,50
A) 52, 50 B) 72,30
B) 72, 30 C) 70, 32
C) 70, 32 D) 56, 46
D) 56, 46

Page 13 of 20



29D

67.

68.

69.

70.

What is the middle number of the three
numbers which are in the ratio 5:3:4 and sum of
whose squares is 32007

A) 36

B) 24

C) 25

D) 30

The cost of production of a product in a
particular year is Rs.600, divided between
material, labour and overheads in the ratio
4:5:3. What will be the marked price if the profit
is equal to 10% of the labour cost?

A) Rs.610

B) Rs.625

C) Rs.675

D) Rs.650

What strength of 30ml alcohol should be added
to 15ml of 40% alcohol to get an average
strength of 20% alcohol?

A) 12%

B) 15%

C) 10%

D) 8%

The population of a city has increased to 105%
of its value last year. If the population this year
is 3.15 lakhs, what was last year’s population?
A) 3.5 lakhs

B) 3.25 lakhs

C) 4 lakhs

D) 3 lakhs

67.

68.

69.

70.

fan f3& Aitmret € fegarast Ay ot Jedft fret =
wMEUT3 5:3:4 I w3 GIa Aitmret @ =aar @7 #3 3200
3?

A) 36

B) 24

C) 25

D) 30

far fefime s e ffa G3ue <t G3ues a3
600 3. J, # fa AHardt, Haedt »3 GUdd uas fee
4:5:3 € migur3 feg &3t 3¢t J1 799 89 Haed 8a=
2 10% € §379d J, 37 @3ue ¥ g979 HS fdar I=ar?

A) 610 4.

B) 6254.

C) 6754.

D) 650 9.

40% mSaas % 15t fimge feg 30t msdas
ot foat Hr3ar fhsret aret afteht 9 3t fa wigdas
A3 33T 20% JI=7?

A) 12%

B) 15%

C) 10%

D) 8%

far wfag €t Aerfmr 39 Ue® re <t 3za7 e
105% = = Jfenm w93 fem 7 &t Fertim 3.15
3y J, 3t fUsd W fFE o Aanfunr faat H?

A) 353y

B) 3.25 %y

C) 48y

D) 3 &y
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71.  Fill in the blanks with correct option:
It didn't rain the whole day. | __ have
brought the umbrella.
A) couldn't
B) should
C) won't
D) needn't
72.  Fill in the blanks with correct option:

you better now?

A) Are, feeling
B) Have, felt
C) Would, feel
D) Did, feel

73.  Fill in the blanks with correct option:

| don't know if he plays tennis now. He

when he was in college.
A) used to
B) may
C) might
D) should
74.  Fillin the blanks with correct option:
We can give the money to charity
spending it to watch movies.
A) in light of
B) in league with
C) on the contrary to
D) in lieu of
75.  Fillin the blanks with correct option:
We should start now. The rain
already.
A) would stop
B) is stopping
C) had stopped
D) has stopped

76.

77.

78.

79.

80.

Fill in the blanks with correct option:

My favourite subjectis __ Electronics.
A) an

B) the

C) a

D) no article

Fill in the blanks with correct option:
After spending a month in hospital, her health is
improving

A) in line with

B) by leaps and bounds

C) for better or for worse

D) all and sundry

Fill in the blanks with correct option:
The rats all the wires, every now and
then.

A) cutted up

B) cut ups

C) cuts up

D) cutup

Fill in the blanks with correct option:

you in Chennai when you were a

child?

A) Have, lived

B) Did live

C) Did, lived

D) Did, used to live

Fill in the blanks with correct option:
Could you lend me ___ few hundred rupee
notes?

A) a

B) an

C) the

D) no article
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“gie” HIe ©F nig" I 2

81. Identify the plural form of the given word: 87.
Radio A) I XIXT
A) Radioes B) Hfox
B) Radios C) H&T
C) Radioess D) HETRST
D) Radioss
82. Find the synonym of the question word: 8g. “€I® AgoT” HIET T niIH I ?
Mighty A) HId b reuSral
A) Strong B) ©H &QT
B) Feeble C) Tur a=r
C) Feathery D) 9%t II5T
D) Adventurous
83.  Identify the plural form of the given word: 89. I‘aﬁ Iémaél- S e, e JiHS i g
fXa I 575 Sfi 77 AxeT J|
Beach -
A) &
A) Beachos B) 3=
B) Beaches C) g9
D) U+
C) Beachess )
D) Beachus
84. Identify the plural form of the given word: 0. frm u=zaie feg “nmu” meae afenr J<
Brd fxasT uzsie xfde Ia?
Woman = )
A) ToHOSOX U36'<
A) Women .
B) Ugy 99X U3Ia'<T
B) Womens C) for =ox uzsi<
C) Womans D) ST €9 Ui
D) Womanss
85.  Find the synonym of the question word: 91. < fxgsT & I7
Blaze A) dH &<
A) Flame B) W3t ¥9X oie
B) Warm C) A3 TOX &<
C) Heat D) fedoe™x &<
D) Fume
g86. ST Fx® v fUrtus J51 @ faasT 92. BXIBHIX JU T HIT 68T BT IS
uzste oA er I ? fostemit feg™ faazT mae =93 aer 32
A) niforg TOx UIsie A) JIg
B) AU TUX UIaTe B) ug
C) YHG €9X U3ai<e C) &
D) foro soxX UIaie D) s
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94.

95.

96.

97.

98.

faas o= I°2

A) niferafes 3feus I
B) A=t 3feus

C) fomfoz 3feus a=
D) g+t 3feus 3

fafanr @ far gu 37 u3T &1 fx 13 A
feg 1 UgIr st Jfewr AF 9 faar @7
faos a® IT8e I?

A) niferfgs 83 I

B) »UJo I3 IS

C) AO9ZE g3 &

D) AIsT 33 B

Brer €37 3TT AT JI TX o f[XIF
JuUI?

A) IJH T/

B) famim&hor =

C) A& T

D) AOgE X

“UfaQ” A&l Ha'ed ©F »igg J°?
A) Wg 39T JIT

B) weEdT ATET

C) feo® fega

D) gToHt g8t

HI'TT &t @If3n qer I 2
A) WMAHTST JTST UaT

B) »iut feg gadt mrB=r

C) ar =957

D) »it feg »g 833907

99.

100.

Jo fou feg” fersat f8ar sie 93|
A) T=t
B) famr
C) axfer
D) Afag

nJ" A7 g° g fagt @ x € gU gE%E §
St IfJe T ?

A) fafamr =ziegr

B) X9+ Eciedr

C) € ecedr

D) 93T Sc=dr
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Space for Rough Work
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Space for Rough Work
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9) Completely darken the CIRCLE so that the alphabet inside the
CIRCLE is not visible. Darken ONLY ONE CIRCLE for each
answer as shown in the example below. The CORRECT and the
WRONG method of darkening the CIRCLE on the OMR sheet are

given below. / difent & ydt 337 I® 99 3ffa I € »ieg f&3
TISHST & miyd & feye| Jat Beads 99 feue e »igag g
39 Bt d=s q 18 & & 94| §Ta Hie 3 318 3 I8 d9s

=1 At w3 %3 Itar Jat fE3T famr J

Correct Method Wrong Method

At 3dtar %3 Idtar
==l W= D O &

56 D8

10) In view of the tight time span, do not waste your time on a
question which you find to be difficult. Go on solving questions one

by one and come back to the difficult questions at the end. / #H €7
fims Jue I8, HAfIS YyAs 3 MU AHT sHe &7 ad | fea-fea
=t 3fim 33|

11) DO NOT make any stray marks anywhere on the OMR
Answer Sheet. DO NOT fold or wrinkle the OMR Answer Sheet.
Rough work MUST NOT be done on the answer sheet. Use your

test booklet for this purpose./ &g Hie 3 fa3 <t It Syar
fors &1 BarQ| ©mmrg Hie 3 &1 13 #f & Jt fem 3 e Ul Ie

7t T JH §39 Hie '3 famas & ad| for aH B vyt i
yAfser &t ft =93 3|

12) Questions are in both English and Punjabi. If any
confusion arises in the Punjabi version, please refer to the
English version_of the question. /W R ik=ry
It {89 981 Agg UnTHt ARage f&u adt uamat 3, 3t faour
mwémﬁﬁm?mﬁmﬁl

13) OMR Answer Sheets will be processed by electronic
means. Invalidation of the OMR Answer Sheet due to its
folding/ wrinkling or putting of stray marks on it or due to
any other damage to it as well as incomplete/ incorrect
filling of the Answer Sheet or overwriting on the oval or use
of whitener, will be the sole responsibility of the candidate. /
Smmrg §33 Hiet 3 fessagisa fedt enmar afg it At fere
W3/ ¢ uge 7t Jet Sud fors s #f fAd fa @39 die &
WyI/a%3 391 378 FI&T AT A G UT feye AT HeE das T U
dt 293 &8 feHg ¥ae J95 98 AHng 839 Hie € nyHfes
Jd< 3 At ffiedt Gteeg &t d=afh
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